F#% %% 100 # 12 7 19 p %% 7 ¥ % 1000109769E 5L =

g =7

\,“_ TLA

1443 % 8

RLZHFFFTLHLT R R,

LRI R

FELFLS R A A

P F IR

$ B PR R

N

.2?%1
& S Al
o | 23 “f‘]'%\ HFZ Ao (#%

= = 4 % A Y B f2 %) 2R
4 |FETEER | F 28 | S EZFE|RES E | - B RRE S RED R B
ENR T S9 e R o N 31 (41[4 BB
_}iié_f'_,’ﬁ'f /ﬂi)’—'l}\/‘*’é’\i‘ﬁ@
AR g
2% I B 50 =
AL B A
/vhlo.‘_‘# ’jﬁ’Z e
l}LKQ
Ak e W PRI A E R A2 i
138 ~ % 2B AT T F 3L 4)2% 63 152 ’Qf“iﬁ"—‘“r
ﬁiﬁ%%iﬁ2§ﬁ%ﬁﬂ%%&§ﬁﬁ§§%ﬁm$
3 f,ggﬁig A 1y E 2 ,;-; "‘x& J’FLF‘W’ '“Jf%%ﬁ‘f)i (#%
&) 4o T £
Gt
RERGVER gk marr PR
3@); j&lz":p;{_‘-b\‘ 5{‘5]5%'.%‘3]_?] ( /A‘ / /\B \ ,\?\/FaDA
5 (i s (A) P (B) (D)
11 (% 24 % 1 63 EIFRI- R ;%-;;—‘;! B=1 - R
I~ % 27 #- . 10~2,000 AR # AERLHFFTRE
2 z @ ;%— yoR B *
ZE Y& = 2 B ,E\;b
= ‘\J—f‘fﬁkﬂ ,ﬁ_%;\
T3 LR |, e
= S 3|
DY TR
o4 %= ,
T e 1F AL




DL ¥ A Rk
SRS 4/}fﬂr/\ﬁ D=2
Pk (T
A=2
W& 2
I8 =X 4\?1{?’2‘}6‘@%‘%}11? (E) 4e £ 8| B
AN
HIES.
£
EFRESANES | (Z)ERpWIEPFREF |05 -0.5
(A@L& PRI | AER T F AHE AESE 96
FAREREL | Fy LIERIZ2ZHFTE T
(AXBXCxD) A () AR é R s -0.2 -0.2
ERPNER

& AT AT 23 B T AXBXCXDx(1HE)x 5y 45 T 1

A=2 -~ B=1-C=1- D=2 - E=(-0.5-0.2)=-0.7

)42 47 R =2x1x1x2x(1-0.7) x10 §=12 § ~

EORBREAVRAMFEEZF8EFIFRT BB K YAV R
i (&) o™ £

& P d e P - A S
E‘ b N
. KR E i\fjjx;:}fg EFE A5 HohbF P UNELET2
- . ( P dic)
v (A)
EF R B W
HEEENp
EP I
@5 k5 o b B2 F
. hZPE S S
e B 28 | o
1. N o G 1 Bl By 8
o) %@5—4’-%1‘}
71
P& 2 in
3~ 0B Ak
= o
i




